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- (0
1fm >, then
. . 1 1 Additive inverse
Formative Practice g m <
1 A Correct
B Correct
C  Wrong G
D Correct 1fm > n, then Multiplicative inverse
Asnwer: C —m<-n.
2 Relation between two
Number line 7 (a) > (b) < (0 > (d) <
numbers
(@) X (b) v () v (d) X
<« o >
(@) 4 6 4<6,6>4 9 () 3<8
342 <8+2
< o >
(b) > h 2<1,1>-2 5 <10
(b) 2 >4
<«——e— o —>»
© 8 s 8§ <-5,-5>-8 2-5>-4-5
-3 >-9
<«——e—o— >
(d) 4 0 -4<0,0>-4 (¢) % >%
3 (a) -5<3 (b) -2>-8 2x9>1Lxo
4 (a) False (c) True 9 5 >33
b) T d) Fal
5() rue (d) False @ 6 <3
-6+ (-3) >-3+(-3)
Inequality Number line 2>1
—» 10 (a) h >5
@ X2 3456 |7
h+1|>|5+1
(b) <-3
b < _ «— > m -
®) x=-l 43210 12 X
m-2| < |[-3-2
«— .
(c) 4= x ——t———F—> 4
0123456 © _%P$_4
d 5= > X
@ >=x 8-7-6-5-4 32 —%px(—Z) > [-4x(-2)
6 (a) d) -3t =27
If -3t [_ 27
m < x < n, then Converse property 3L =3
m<n.
11 m =80
(b) 80<m
Answer: D
fm ><n, then Transitive property 12 y>150
s 13 (a) The rate of dividend paid by Company OWC each
year is less than 8%.
(b) A polygon has at least 3 sides.
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14 (a) —x =2
—ixx (-4) < 2% (-4)
x<8
1
b —-——x=-2
(b) )

15

16

17

18

19

A2

(d) A=

—ixx (1) = -2x(-1)

lx$2
4

2 =—x

1

4

(a) 7m < -21
m<-3

1
b ——k =-4
(b) 3

—%k X (-3) < -4x(-3)

k<12
(c) 11=<3-7r
r<-8
(d) 3x+7>14
3x > -3
x> -1

L4 <k-2
2
lk—k<—2+4
2
<o
2

—%k X (<2) > 2% (-2)

k> -4

Answer: A
(@) X (b) X
(c) V d) v
4x -23 =37

4x = 60

x =15

The smallest value of x is 15.

(a) —>
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[No]

[Yes]

[Yes]

[No]

(C) ———o

(d) <——

<«~—F+—>
-3

20 () (i) a+9>7
a>-2

(i) 2a-5<1

2a <6

\J

\J

w-T e

s~
o+

21 -3k <15
-3k +(-3) > 15+ (-3)
k> -5
8k+3>7k-6
8k—-7k>-6-3
k>-9

2k +7 < 3(k+3)
2k+7 <3k+9
2k—-3k <9-7
-k <2
k>-2
L2 <k<4
(b) -1,0,1,2,3,4

Summative Practice 4

1 -3<x=<5

Y

4
vt e

Answer: B
2 2=x
x=2
Answer: B
3 3<6-x<4
-3<6-x
x <9
6-x <4
X =-2
x =2
L2=s=x<9
Answer: A
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4 7=w-4<10
7+4=w<10+4
11 sw<14
19 <2w+3<25
19-3 <2w=25-3
16 <2w =22
§<w=11

o—eo
< Il Il Il
é lll 1I4

Integer w =11

Answer: C
5 7-2y<1

-2y <-6
=2y +(-2) > -6+(-2)
y>3
The smallest value of y is 4.
Answer: C

Y

Y

(a) 7-3x<1
(b) -3x < -6
-3x+(-3) > -6+ (-3)
x>2
Sox=3,4,5,6,...
7 2k-3<5
2k <8
k<4
k+4 <14-9k
k+9% <14-4
10k < 10
k<1
Solution: k < 4

A

\J

(b) 5a-7=24-a)
5a—7 =8-2a
7a =15
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m: —le=_1
2

v: =1

x<2
VI x=2x-2
-x =-2
x <2
VIII: -1=sx-3
2s<sx
x=2
—lx>—1,l
2 3
10 (a) 2(x+17)<52-x
(b) 2x+34=<52-x
2x+x<52-34
3x<18
X<6
The largest value of x is 6.

11 P
2

x+4
3

=

X, X=2x—2,2 =

A=

-6 <4-r
r<<10

1
—(@2r+1)=-2
5 )

12 (a) (i) -7<4x+1
-8 <4x
-2<x
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